
Rosmond 
Oak Formal 
Dining Chair 

Spare Parts Customer Support



Safety and Care Advice
Product Details

Care and maintenance

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY.

Additional Guidance



Bag 1

Fittings (Shown to scale)

2

F

G

55mm Bolt  x4

35mm Screw  x4 

Felt x4 

H

M5 Allen key  x1 

A

80mm Bolt x4

B C

45mm Bolt  x1

D E

M8 Spring Washer x9 M8 Flat Washer x9 



Panels

Back x 1
(1020 x 390mm) 

1 Left leg x 1 
( 440 x 45mm)

2

Seat   
(475 x 440mm)

Right leg x 1 
( 440 x 45mm)

3

6

Left support rail x 1 
( 420 x 30mm)

4 Left support rail x 1 
( 420 x 30mm)

5



1

4

H

6

2

A
D

E

F

G

55mm bolt x4

35mm Screw  x4 

Felt x4 

H

M5 Allen key  x1 

A

80mm bolt x4

B C

45mm bolt x1

D E

M8 Spring Washer x9 M8 Flat Washer x9 

6

A

80mm Bolt  x4

C

45mm Bolt  x1

D E

M8 Spring Washer x5 M8 Flat Washer x5 

H

M5 Allen key  x1 

H

C
D

E

1

6

DO NOT fully tighten all the bolts
until assembly is completely finished

X2

X1



3

4
55mm Bolt x4

D E

M8 Spring Washer x5 M8 Flat Washer x5 

H

M5 Allen key  x1 

5

4

B

3

2

H

E
D

B

X2
DO NOT fully tighten all the screws 
until assembly is completely finished



X4

Fully tighten all the screws and bolts to complete assembly 

5 Turn 
Product G

35mm Screw  x4 



6 Rotate 
Product


